
124274                             3-1019 
 
You are preparing a weather report form, WS Form B-80.  The dry bulb thermometer reads 
30°F (-1°C), and the wet bulb thermometer reads 28°F (-2°C). Using the Ships Code Card, 
how would you encode the air temperature groups in the report? 
 
Note:   The answers below have two values. The first value corresponds to section 1snTTT(air 
temperature) and the second value corresponds to 2snTdTdTd(dew point temperature) of WS 
Form B-80.  Encoding requires converting degrees Fahrenheit to degrees Celsius. 
 
 
A.10011, 2003/ 
Incorrect.  The second digit of 10011 must be a 1 since the value of the dry bulb temperature in 
Celsius is negative.   
 
 
B.11300, 2124/ 
Incorrect. The third digit of 11300 must be a 0 since you need to include preceding zeroes for % 
Celsius. 
 
 
C.11011, 2124/ 
Incorrect. The third digit of 2124/ must be a 0 since you need to include preceding zeroes for -4.0° 
Celsius. 
 
 
D.11011, 2104/ 

Correct.  The value 11011 is encoded and entered into section 1snTTT:  The first digit 1, is the 
default value to indicate “dry bulb”. The second value represented by sn = 1, since the dry bulb 
temperature in degrees Celsius is negative (-). The third, fourth, and fifth values TTT = 011, 
correspond to dry bulb temperature in degrees Celsius. Convert 30° F to Celsius, which is -1.1° C 
and include the preceding zero value.  The proper entry for the first value therefore is 11011. 
 
The second value is encoded and entered into section 2snTdTdTd.  The first digit 2 is the default 
value to represent “wet bulb”. The second digit represented by sn=1, since the value in degrees 
Celsius is negative(-). TdTdTd is derived from the wet bulb depression (difference between the dry 
and wet bulb temperatures). From the last page of the Ships’ Code Card, “dew point calculation 
table”, determine the coded value. This can be determined by using the wet bulb depression value 
of 1.0° C, which is determined by subtracting  -2°C [wb] from -1°C [db] to yield +1° C:                   
( -1°C – (-2°C) = +1° C) and the wet bulb temperature -2° C. The value -4 is where these two 
values intersect. TdTdTd reads 04, where the slash (/) indicates that tenths of the dew point 
temperature is not available. Therefore, the proper entry for the second value is 2104/. 
 
 
 

See Diagram on Next Page 



 


